1506 Bl H5UT&RRMI—

o B

TR e Rk ARy — (BER)
o IMAO

4 947 p. X7, ARILk
e BJ210]-08 %Té%
- BR21010|  |msHitwan
! - SCMa35
B210112 | R e
&ovF el e
YT (252 4—-K5417) (¥a—h217) BJ210)-16 il

M1 ABRFEIEDRS ) M RERfEEDRS

iG] Al

Yy, W
(M8F) L (M8FR) L |

A1 K bl

AR I R

57 OF e” .| e ’T

g5 7 | | o : - | =

2 P4z R + I R R -

sl * M ARRIERME [ ’

- BJ210) (24> 4—K447) BJ210-8|(¥3—h517)

50 [BI210/(RYVI—RYAT)

9597 3

&ARY/T- 5 B M L Hi | H2z | Hs H w M Ha () i &

n-9- BJ210-08040 | M 8x1.25 | 50 | 32 | 25 | 20 | 40 | 21 | M8 | 7 | 95| 2900

7,7, _BJ210-12050 | Mi2x175 | | 50 | 40 | 3 | 60 | 36 [Mi2[ 12 | 500 | 3300

BJ210-16063 | M16x2 63 | 50 | 40 | 80 | 46 | M6 | 14 | 1200 | 5,000

" BJ210S|(¥a—hs(T)

& & M L |H | H|W/| M| H ?g? & %

“27h "BJ210-08020S | M 8x125 | 50 | 20 | 28 | 21 | M8 | 7 | 70 | 139

A2 BJ210-10025S | M10x15 | 90 | 25 | 35 | 30 (M0 9 | 195 | 1,740

7 BJ210-12032S | M12x175 | | 32 | 44 | 36 | M12| 12 | 355 | 2,300

ST T BJ210-16040S | M16x2 40 | 56 | 46 | M16| 14 | 705 | 3,100

BN ST ICHITFIBICENET,

- £ - Wi TEL.0575-28-4811 | ®@18%8 | TEL.0575-32-2239 97 D-KL~JsD



